H £ 0l & AF & S

Al A

FA ARSI
M MIISX XN (MEIEX/FHLHEXA)
=2 ARISXEH Z N2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Arel S X110t 73,296,365 64,900,029 8,3%,336
= 44,842,575
[ 1,680,005
Jl 165,000
< 5,833,760
Al 20,775,025
AEIS X X (AR SR/HAHEXR) 362,614 554,150 A201,536
= 41,260
Al 311,354
N EPNESES = N 258,514 460,050 A201,536
== 14,380
Al 244,134
FEIAHIA 2] 20,824 21,960 A1,136
201 2= 6,160 6,660 A500
01 AtR2t2lt] 6.160 6.660 A500
Oget=ZH| 1,160
oFUMHIA HRNF(SPH, MASAE
<0I) 80,000 *23] 160
oHEAAY & NS=EX S22 M
10,0002 505 500
oQlZh =OAHIA A3E Hal =2 K
EE2E MA 500,000& %12 500
O=23+¢ 2,500
oFUAHIA WS 2l HAL =&
250,000 x3E *23] 1,500
o0tz EHUEXMHIA 25+ SHE &
DHEDL 100,000& *10H 1,000
ogxz 2,500
oflat FRANBIA 23E HE SX2
2,500,000& %12 2,500
202 04| 6,380 6,800 A420
01 2LHA b 6,380 6.800 A420
OAIZ| S| 2+ AL FA
110,000 x19E 23] 4,180
OFCBANHIA HEFE W=
10,0002 x 10 #2353 2,200
301 LEetE N = 2,484 2,700 A216
11 #AIAHIXIZ S 2,484 2,700 A216
ORIB FOIAHIA TS HOX Mb| 24
18,0003 »138E 12l 2,484
303 Zal= 5,800 5,800
01 Z&= 5,800 5,800
O&0Ple EHEXMEIA 25 SHE &
o= 5,800
oX| et 900,000~ SB = 1,800




FA ARSI
B A=A K (ASI= X /H ST )
CHelr AIRSXEH & X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o = 600,000& 2 SE = 1,200
o d ¢ 400,003 *4HEHS 1,600
ol & & 300,000+ EHS 1,200
SXIAIM N 6,940 7,790 A850
202 04| 1,320 1,530 A210
01 =LHOLI 1,320 1,530 A210
O=TAIZ g S X0
110,000& x6& »2& 1,320
203 HE=H] 4,860 5,400 2540
03 A= HRFAI| 4,860 5,400 A540
OAt2I =Xl 2= 4,860,000 *14] 4,860
301 EetE2 NS 760 860 2100
11 #AIAHIXIE S 760 860 A100
OSXIAIZ OH2E 24 &8 24 760
S AZIHY SAIX BIXI0H
50,0003 x4 H*2 400
oAZINY HPR2Y AL AH 24
10,0003 x6 & *63] 360
ARISA SAEL M2HA 230,750 430,300 199,550
=S 14,380
Al 216,370
307 21201 & 230,750 430,300 199,550
< 14,380
Al 216,370
6 2= 8,600 8,600 0
OARIZSTIAIE SAAL doi2gs X3
8,600,000 +14] 8,600
= 4,300
Al 4,300
1 AMEISXAIEEXS 222,150 421,700 199,550
OAMZBIEXIAIE SALX B0l X2 (A
3IZXIA 33,600,000 * 14! 33,600
== 10,080
Al 23,520
OMIISXIAIE SAX B0SH| XD
Bt 2E) 5,000,000& 14 5,000
OAEISXIAIE SAHL RESE SXHEE
A& 183,550,000 *14] 183,550
Mol = 94,100 94,100 0
== 26,880
Al 67,220
SN S PNIONE 4,500 4,500 0
301 2eEN= 4,500 4,500
02 AL 2EH LGS (HAAS, W) 4,500 4,500




FA ARSI
M MIISX XN (MEIEX/FHLHEXA)
Rl Mol = (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2IAtet At X1 150,000& »15E 23] 4,500
el XN& 89,600 89,600 0
= 26,880
Al 62,720
301 EetE2 NS 89,600 89,600 0
s 26,880
Al 62,720
14 0Bt 2as 89,600 89,600 0
OoZg&dbg N& 89,600,000 * 14! 89,600
[ 26,880
Al 62,720
2E(A2=X/28) 5,346,565 4,628,859 717,706
=S 569,850
Al 4,776,715
o2& 5,346,565 4,628,859 717,706
< 569,850
Al 4,776,715
=tR3A X 100,000 100,000 0
& 3,450
Al 96,550
301 EtE NS 58,500 58,500
02 A2 XS (FHAAS, NLHA) 58,500 58,500
O=II=R3A N (4, =4)
50,0002 *500E <22 50,000
03.12 gAt 34 SERSA 75 2 Ad
20,0002 *50H 1,000
OSERST Jad(add, 252) X
150, 0003 x25H »23] 7,500
307 elzto| & 41,500 41,500 0
= 3,450
Al 38,080
012z & 2=Hl 11,500 11,500 0
OSgasAkt & 75 2zl K&
11,500,000 * 14! 11,500
== 3,450
Al 8,050
05 2IZtRAE = 30,000 30,000 0
O=SERSA 2= & dTA 30,000
oSgRIA E€= H dAY
20,000,000 x 14 20,000
ol=Ag SEEs Azd 29l
10,000,000& * 14! 10,000
=t2EUAR X 4,875,000 4,028,160 846,840
& 566,400




SA: AR =X

M EE(MIEX/EE)
el =IEE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,308,600
301 EtE NS 4,875,000 4,028,160 846,840
=S 566,400
Al 4,308,600
02 ARSI SE AT S(FIANS, XLETHE) 4,875,000 4,028,160 846,840
06.25 & 8¢ &8 23X N 2,924,760
oRHYY 2L
130,000& *1,200& « 12 1,872,000
SNEEEE 500, 0002120 60,000
SHHESBT ST Holeg
70,0002 *500H 122 495,600
odte: MM+ K&
30,0002 +1,381E 12 497,160
= 497,160
ORNBEUAR NS (BHRTI M) 1,950,240
oBEN+Y
130,000 *1,200F 122 1,872,000
oMNZRAZS 500,000 %18 9,000
oHEHT FEANSY N
62,400,000 * 14! 62,400
== 62,400
olcldr SERSA 7 2230 =E
A& 30,0002 19~ 128 6,840
== 6.840
22Hd 88X == 47,000 52,000 /5,000
307 @20l & 47,000 52,000 /5,000
04 QIHHAMAIH 2 £ 47,000 52,000 25,000
OE&2HH 88X @=zdl & UchAE
S(8HEH) 47,000,000& *14] 47,000
S= 282 € @A = 51,000 56,676 ADb,676
201 2= 12,000 10,000 2,000
03 A2 I 12,000 10,000 2,000
Oslsd =84 12,000,000& *13] 12,000
301 EtE NS 38,000 44,000 26,000
02 ARSI 2 XSG (FHAAHS, W) 35,000 41,000 26,000
Os32LEY g 23X N (R2)
50,0003 +500& 25,000
O8sg =84 g4 IR A2 2
20,0003 %500 10,000
11 dALEEIXIRE S 3,000 3,000 0
O8sY F84 SATHESR) 24
3,000,000 14| 3,000
307 el2tol & 1,000 1,290 avacy
06 28= 1,000 1,290 A290
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FA ASIS
BH: RZA 2O (LNDIYH/AHE)
chelr MRIZAL 22 2 A" (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXFEZ A RLIUIOIE! 22I01H]
110,000 #4323 440
301 EtE2 NS 35,000 35,000
11 #AIAHIXIZ S 27,000 27,000
OXASAF NEXHEH) s L AOIL &
A AHl B4 50,0002 x20H *23] 2,000
O+ NESAL dAE25 Mg &H] 24
25,000,000 * 14| 25,000
14 IIEt2d3 8,000 8,000 0
ORASAR BE Al 24
10,0002 *800H 8,000
307 @I2t0| & 3,500 3,500
02 QB AHANEEX 3,000 3,000
ONRE HE SAES X2
3,000,000& *14] 3,000
06 2= 500 500 0
OXHASALA Ot 282
500,000& 14 500
8= S8 ANESAEE Jtg ABlA & 18,990 20,416 21,426
= 9,495
Al 9,49
307 @120l & 18,990 20,416 1,426
= 9,49
Al 9,495
06 28= 18,990 20,416 1,426
OXESAA 282 18,990,000 * 14! 18,990
= 9,4%
Al 9,49
O Lts2 ARl 23 24t 97,628 110,874 N13,246
= 12,068
Al 85,560
AESAH 22 2 97,628 110,874 A13,246
S 12,068
Al 85,560
201 fer= 3| 21,400 22,400 21,000
01 At 2|l 10,400 11,400 A1,000
g =Ll 9,800
o2 SA 23 S M&
1,000,000 14| 1,000
oXASAL NFE WM ME
3,000 *1,0002 3,000
ol SEHEN T2 VIS MH
3,000,000& *14] 3,000
©1365 AHASAH 2I0IZH Q! 0Lt 2E
1,000,000 14| 1,000




FA ASIS
A NAZA S (LNDDHE/ABHE)
2l EOI9 Lisol ARl 23 St (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHAZNEE UC B2 S+E22 M
1,800,000 %14 1,800
Oo=2g=¢g 600
oA SAES UC 2 tAt=E
200,000 34 600
03 #AL2 | 11,000 11,000 0
ORRZAIE A 2
11,000,000 » 14 11,000
206 M=l 58,428 64,674 26,246
= 12,068
Al 46,360
01 M=4l 58,428 64,674 AB,246
OXESAHIE 28 2435 K& 58,428
ol SAHE 24 gdat XA
40,228,000& x14] 40,228
== 12,068
Al 28,160
oXtEEAL E4S T2 (22) 2L M
=] 800,000 * 109K 2 8,000
oAtESAtEZ 28 23 S|
3,000,000& *14] 3,000
oHAW TEZA 22IR0| DS 2 XY
=4 1,600,000 *23 3,200
o 135AHE SAH IOIZH Q! Ot 28 M
=] 2,000,0002 %23 4,000
301 EtE NS 17,800 23,800 26,000
11 AALAHIXIES 1,000 1,000 0
OMAX= KHASAH OFILOIOI ZAI==&
1,000,000& %12 1,000
14 JIEt2 8= 16,800 22,800 26,000
Od80s S50l ANFSAHA 2HI24
10,0002 +502 46| 3,000
OHAE TSA L2HF0| AHIBA
10,0002 %108 %102 1,000
OXESAEES UC B2 AMd=
2,800,000& *14] 2,800
OO0t NHESA WS HA+g
50,0002 1002 5,000
O0LIs=Ll €28d SN =222 29
5,000,000 * 14 5,000
MASE d2otd N (MSXOIZEEL2E) 61,120,194 54,297,891 6,822,303
= 44,260,050
= 1,467,306
Jl 165,000
= 5,018,889
Al 10,208,949




SM: At
33 X
= N

EVPIEEEED

. E}gg

0 &

MEE
Ofl &k2h

S 3 W

=

50,707,544
43,458,486
166,260
165,000
3,618,725
3,299,073

45,146,937

ARV

=

42,323,016
38,090,715
2,962,611
1,269,690

37,198,054

5,124,962

Mo

=

42,323,016
38,090,715
2,962,611
1,269,690

37,198,054

5,124,962

01 AIIB R LS (2REXTL)

OdA=N

42,323,016,000& * 14

oW

=

42,323,016
42,323,016
38,090,715
2,962,611
1,269,690

37,198,054

5,124,962

oW

=

321,977
289,780
22,538
9,659

321,977

oW

=

321,977
289,780
22,538
9,659

321,977

321,977,000& x 14

n

321,977
321,977
289,780
22,538
9,659

321,977

H

268,000
268,000

268,000

H

268,000
268,000

268,000

268,000,000 14

W

268,000
268,000
268,000

268,000

31,802

23,060

8,742

31,802

23,060

8,742

31,802,000 *14!

31,802
31,802

23,060

8,742




SA: MBS

M NASES M2l NJ(MIASX/OIZEEH)

Celr MASS JI=MEory 22 (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
2z sAUsE 22X 232 N2 (HLIISSEAY) 16,056 47,850 A31,7%

= 12,845
== 963
Al 2,248
307 212t01& 16,056 47,850 A31,79%4
= 12,845
=S 963
Al 2,248
11 ARRIS XA E X 16,056 47,850 A31,79%4
OULIISSEAIY 16,006,000 * 14! 16,056
= 12,845
= 963
Al 2,248
22s8Us SN 2 ANFEBIIS .1, E 166,034 315,654 A149,620
32|18, BEMSHI SEAY)
= 132,827
= 9,962
Al 23,245
307 @120l & 166,034 315,654 A149,620
= 132,827
= 9,962
Al 23,245
11 ARRIS XA E X 166,034 315,654 149,620
O3l ISSHE | A 9,665,0002 %14 9,665
= 7,732
= 580
Al 1,353
O3 BII=SH I A
63,569,000 * 14 63,569
= 50,855
= 3,814
Al 8,900
O34 slPIIs S At
19,900,000 * 14! 19,900
= 16,920
= 1,194
Al 2,786
O34 M=AHI S& A
72,900,000 *14] 72,900
= 58,320
= 4,374
Al 10,206
22s8Us =S 2 NFELEHF .1, E 801,302 305,925 495,377
HUHLXH=AHE SEAY)




SA ARSI
B HASE MBOE KA (AS=X/IIZMEBE)
el MASE JIZMEHY &g (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 641,041
=S 48,079
Al 112,182
307 @I2to| & 801,302 305,925 495,377
= 641,041
= 48,079
Al 112,182
1 AMISXAIEEXS 801,302 305,925 495,377
OSIYMEAZT S | A
67,648,000 * 14| 67,648
= 54,118
= 4,059
Al 9,471
OSIYMEAZT S I A
67,514,000 * 14! 67,514
= 54,011
= 4,051
Al 9,452
OBEUL RSN ZH XS0 SH A
93,679,000 * 14| 93,679
= 74,943
= 5,621
Al 13,115
OFEUHLMFHE(XARAZD) ST ALY
572,461,000 x14] 572,461
= 457,969
=S 34,348
Al 80, 144
NS (22) 3,143,317 3,114,956 28,361
= 2,828,986
= 220,032
Al 94,29
101 21AH| 361,877 372,556 A20,679
= 316,690
= 24,631
Al 10,556
04 JIZtNZ22 NS+ 361,877 372,556 A20,679
OXEIZAIY HOAF 212
351,877,000& *14] 361,877
= 316,690
= 24,631
Al 10,556
201 fet= 3| 8,000 8,000 0
= 7,200




SA: MBS
M NASES M2l NJ(MIASX/OIZEEH)
Celr MASS JI=MEory 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 560
Al 240
01 At2tltl 8,000 8,000 0
OXEZZ AMg=a 8,000,000& 14| 8,000
= 7,200
S 560
Al 240
202 04l 13,440 14,400 A960
= 12,096
== 94
Al 403
01 =LHO LI 13,440 14,400 A960
OXEAI 01t
20,0003 x4 *142|«12E 13,440
= 12,096
== 94
Al 403
206 MH=HI 16,000 16,000 0
= 14,400
== 1,120
Al 480
01 MHZH| 16,000 16,000 0
OXHEAFY X+ 16,000,000 * 12l 16,000
= 14,400
= 1,120
Al 480
301 22N 3,600 3,600 0
= 3,240
= 252
Al 108
11 #AIAHIXIE S 3,600 3,600 0
OXEZZAIY AADJIZ S&IX A Ald|
24 00,0002 18 3,600
= 3,240
= 252
Al 108
307 21201 & 2,750,400 2,700,400 50,000
= 2,475,360
= 192,528
Al 82,512
05 212t =S 2,750,000 2,700,000 50,000
OXSTHEHE X222 RAEA
1,375,000,0002 201 2 2,750,000
= 2,475,000




SA: AR =X
M HASE MESoE XA (MIIEX/JIZHEER)
Ol MASS I ZMEOHE 22 (CH9: &S1)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
< 192,500
Al 82,500
06 283 400 400 0
O&&RX Ast e E8=
400,000 *14] 400
= 360
= 28
Al 12
MNAS =0l FpAL2EE N 572,400 540,000 32,400
307 212+01™ 572,400 540,000 32,400
NEEEIEET 572,400 540,000 3,400
ORAS %0l 2WAYDEE X2
10,6002 4,500 Al CH+ 122 572,400
NASS 4 N 79,100 79,100 0
301 Et2 &= 79,100 79,100
02 A SEATZ2(FHAANS, XLTHE) 79,100 79,100
OMBISIIANE 22(4, =4) 29,100
o ME Tt 1021018 AlE
150, 000& 250 2 %23 7,500
oS X 10~5021018 AlE
250, 0003 %271 %22 13,500
SMBHT} 50010]4F Al
450,000 90 A #23] 8,100
OMASE 284 K& 50,000
oA Z(4, F4)
50,0003 5002+ %22 50,000
SEAF E 2t 29,090 29,290 2200
201 ZEeH2& ] 26,890 26,890 0
02 =24l 26,890 26,890 0
OZ33x2= € HMAl 26,890
CEXUAT SN SES 2&(eIER
B M2 U2 26,890,000 * 14! 26,890
202 04l 2,200 2,400 2200
01 =L LI 2,200 2,400 A200
OZXHAX H2(CMXR)
50,0002 4+ 113l 2,200
218 =X K& 1,493,665 1,492,865 800
= 1,194,292
= 149,286
Al 150,087
201 2et22 ] 800 800
01 AtS2t2ltl 800 800
2S=Taods A
100,000 4 & *23] 800
301 LtENZ 1,492,865 1,492,865 0




SA: MBS
M NASES M2l NJ(MIASX/OIZEEH)
Celr MASS JI=MEory 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,194,292
=S 149,286
Al 149,287
01 Al E2E AL S(FRDEXH) 1,492,865 1,492,865 0
(@FdF=1=INPNLZ! 1,492,865,000& x14] 1,492,865
= 1,194,292
= 149,286
Al 149,287
A=+ 2838 N 25,000 25,000
301 EtE NS 25,000 25,000
02 A2 HSHS(HAAS, NLHE) 25,000 25,000
OAI7E MBOEIE
10,000,000 * 14| 10,000
OZsUHHl S 15,000,000 » 14 15,000
SeAtdlze] X (EX) 23,190 28,275 N\5,085
= 7,500
S 2,250
Al 13,440
201 er23 | 5,160 5,160 0
= 2,580
S 774
Al 1,806
01 At2t2lt] 5,160 5,160 0
Oggt=3=H| 5,160
oSEAtH2el LH2® s (=)
192,000 +6% 960
= 480
=3 144
Al 336
oSEAtdlae B2 ¢ 3o 2% 2l
4,200,000 *14] 4,200
[ 2,100
= 630
Al 1,470
202 04t 8,190 13,275 A5,085
01 =LHOHI 8,190 13,275 A5,085
OSEAtell2e] 2048l
200,000 «3H* 122 7,200
OSeAtd2el 22/0iH|
110,000 38 »33] 990
301 EtE NS 9,840 9,840 0
= 4,920
< 1,476
Al 3,444




SA: MBS
M NASES M2l NJ(MIASX/OIZEEH)
Hel: MASE JIZMEory 2| EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 9,840 9,840 0
OSEAtdll2el At XI2bl
492,000 x20H 9,840
= 4,920
== 1,476
Al 3,444
0Pt 2SI ABIA 23,140 23,380 A240
201 Ler=23 | 20,500 20,500 0
01 At2teltl 20,500 20,500 0
OH0Pte 2ASXAMEIA QHHA MZ
6,000,000 14 6,000
OO0t EASXNAMEIA 82, 28 S A
el 1,000,000 *14] 1,000
OROPI=E2A=SAAHIA DISSXHE &
s =g 500,000 *279H 2~ 13,500
202 04t 2,640 2,880 A240
01 =LHOHI 2,640 2,880 A240
OH0obte EASXAEIA K&
20,0002 «3H 42+ 112 2,640
SHES R0ts SAAMEIA 324,855 364,534 A\39,679
101 e124d| 269,39% 292,084 N22,689
M ORNZZ2NSE S 269,3% 292,084 N22,689
O8¥s SXIZCIUI0IE 269,3%
o2y 9,860 *4A| 2H+52x27 B 343 181,030
SESIN
9,860 x4 A| 2hx 12 x27 B34 36,206
oclEs BdH
8O0 *4A| 2H+6L x27 H*345= 18,728
oA Xt=E 9,800 »4A| 227 B 7 7,455
oMeIEERE 25,976,000 x 14 25,976
202 048l 3,960 4,950 2990
01 2L AL 3,960 4,950 A990
OttS=Reld 88X Ast IE3R| ¢!
] 110,0003 9 *43] 3,960
301 22N = 50,000 66,000 216,000
11 AALEEIXIE S 50,000 66,000 A16,000
Otts=sReld 88X A&
50,000,000 * 14 50,000
307 elztol & 1,500 1,500
06 28= 1,500 1,500
O At B4L HollPE=
1,500,0002 %14 1,500
Hs XEE SgAHlA 226,800 226,800 0
[ 158,760
= 6,804




SA: MBS
M NASES M2l NJ(MIASX/OIZEEH)
Celr MASS JI=MEory 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 61,236
201 er23y| 113,400 113,400 0
[ 79,380
= 3,402
Al 30,618
01 At2teltl 113,400 113,400 0
O=ds X588 SEAMHIL 23
4,200,000 2790 2 113,400
[ 79,380
= 3,402
Al 30,618
301 LEetE N = 113,400 113,400 0
[ 79,380
= 3,402
Al 30,618
01 Al EEABZ2(2DEEMR) 113,400 113,400 0
O=ds X588 SEAHIL AR
4,200,000 2790 2 113,400
[ 79,380
S 3,402
Al 30,618
ANRI2HEE 2tel 3,120 5,130 22,010
201 fer23| 1,800 3,600 21,800
01 AtR2t2|HI 1,800 3,600 1,800
Odgt+=H| 1,800
oA 2SS0 A eHHE ME
4002 *3,0004 1,200
o=ldgd 2g 50,000& * 122 600
202 04l 1,320 1,530 A210
01 =LHA LI 1,320 1,530 A210
OARIE2E330 FJ| HAXA UHE WS
&4 110,000 x6 & =22 1,320
felsul iZAL SXDISH 29 654,000 229,500 424,500
== 196,200
Al 457,800
201 2= 32,700 22,950 9,750
< 9,810
Al 22,890
01 At2teltl 32,700 22,950 9,750
LclSUliZAL SADISH 29
32,700,000& x 14 32,700
= 9,810
Al 22,890
301 EetE NS 621,300 206,550 414,750




SA ARSI
M HASE MBOIE KA (MBS IIZMEDE)
Hel: MASE JIZMEory 2| EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 186,390
Al 434,910
02 A2 EH LGS (FHAAHS, NLWE) 621,300 206,550 414,750
SeASHHZA SNIISH 2
621,300,000 x 14 621,300
= 186,390
Al 434,910
eIEkls U2ASE =SAE 16,680 0 16,680
201 fer=3| 15,680 0 15,680
02 s3=gHl 15,680 0 16,680
OelEXls UASSSSAY MHlA, S
s 082 15,680,000 * 14| 15,680
405 AHaHE = 1,000 0 1,000
01 It =S F = 1,000 0 1,000
OlEXs UaSe =AY 4| 7Y
1,000,000 %14 1,000
elsUl SXDISUH 29 (SAJISAHY) 165,000 0 165,000
Il 165,000
301 EtE NS 165,000 0 165,000
Jl 165,000
01 Al 2E AL S(FRNEXME) 165,000 0 165,000
OS2USH SXIISH 2F(=SAII2A)
165,000,000 * 14! 165,000
Jl 165,000
NGA2 =X 25 Y3t 3,243,236 3,173,912 69,324
= 529,950
= 1,301,046
< 299,276
Al 1,112,964
KHEHAH (RHEHHIES) 834,070 768,645 65,425
= 529,950
== 75,706
Al 228,414
307 212+01& 834,070 768,645 65,425
= 529,950
=S 75,706
Al 228,414
10 Al SXAI2EE 22X 834,070 768,645 65,425
OXETEHE 29 (201A) 834,070
oM ANSHE (EEE)
434,335,0002 x 10K 2 434,335
= 271,135
== 38,733
Al 124,467




2A:

M HASE MBOIE KA (MBIZN/IIZMEDE)
&elr XA =S gs Zst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oMHUTAILXSN2HEH (EEE)
399,735,000 * 100 2 399,735
= 258,815
[ 36,973
Al 103,947
XSAX & HE 29 (X)) 4,500 4,500 0
307 elztol & 4,500 4,500
10 AlISIAIEEE 22X 4,500 4,500
OGS AR 2UE
4,500,000 * 10K 2= 4,500
NSAX2dE 29 (<Hl) 85,840 80,344 5,4%
== 25,752
Al 60,088
307 212+01& 85,840 80,344 5,4%
== 25,752
Al 60,088
10 Al2IS XA E 22X 85,840 80,344 5,4%
OXNSA2HE SAHA S84¢
90,0002 x18F*12& 19,440
= 5,832
Al 13,608
OXIG e THEAtI2el AL XT3
66,400,000 * 14! 66,400
< 19,920
Al 46,480
O==Al At2I=XISt0tE A 15,000 20,000 25,000
307 elztol & 15,000 20,000 25,000
04 QIZHHAMAMH 2 & 15,000 20,000 /5,000
OAt2l S XIet0tE&AL X1
15,000,000& *12] 15,000
KNS 2EZE2AM 2E X 327,189 323,786 3,403
s 8,941
Al 318,248
201 =3 48,600 38,500 10,100
01 At22t2l] 48,600 38,500 10,100
Oget=ZH| 10,800
oSHS NARIE2HE N AtR22ld]
400,000 *279H 2= 10,800
O=g=+¢ 37,800
osHs NAA2EE M 2o 84 =
g 37,800,000 * 14! 37,800
301 LELE NS 13,500 13,500
11 dALEEIXIZE S 13,500 13,500
OSHS NSFA 2SN HAHAHIXIH
= 500,000 *27H 2= 13,500




SA: AR =X

M NASES Mol NJ(MIASK/OIZNEEH)
&elr XA =S gs Zst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 265,089 271,786 26,697
= 8,941
Al 256,148
02 2IZHBYAIHE X 92,000 107,000 /15,000
O#=E LisWsT 29
10,000,000 * 14 10,000
OXSAMSIEHE AN 2IJ 2225}
12,000,002 % 14! 2,000
O%Zmet 2AD S=X N A
70,000,000 x14] 70,000
03 2N EE2SHIE X 173,089 164,786 8,303
OW==AIKNSASI EHE M 22
128,382,000 *14] 128,382
O =AIXSARI 2SN gl oA
Hl 44,707,000 * 104 2= 44,707
< 8,941
Al 35,766
A=l=XEels 28 X 40,000 40,000 0
= 8,000
Al 32,000
307 @20l & 40,000 40,000 0
=S 8,000
Al 32,000
03 YIHHEE 22X 40,000 40,000 0
OO =AlAtRI=XIg 23 23]
40,000,000 * 11 2 40,000
[ 8,000
Al 32,000
IR AZ MSAH 78,000 78,000 0
= 13,600
Al 64,400
307 el2to| & 78,000 78,000 0
= 13,600
Al 64,400
1 AMISXAIEEX 78,000 78,000 0
OJIRAMES HSAE 78,000
oME - 2AZEIAIS =X
78,000,000& x14] 78,000
S 13,600
Al 64,400
XSS AMSIMEIA SXAI (OFAL - 2t 22X~ 378,572 378,572 0
Ae)
[ 265,000
= 34,072
Al 79,500




SA ARSI
M HASE MBOIE KA (MBIZN/IIZMEDE)
&elr XA =S gs Zst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 378,572 378,572 0
= 265,000
== 34,072
Al 79,500
13 S I2S0He 4 A AS A 378,572 378,572 0
OIAL - 2tE L2 XA A
378,572,000 x14] 378,572
= 265,000
== 34,072
Al 79,500
KNEXEE AtelMHIA SXFA 1,427,151 1,427,151 0
s 999,006
== 128,443
Al 299,702
201 2= 1,400 1,400 0
= 980
= 126
Al 2%
01 AtR2tc|HI 1,400 1,400 0
ogsragH| 1,400
SXIHABIMEIA SXIAIY 2
1,400,000 %12 1,400
s 980
s 126
Al 2%4
202 04| 1,600 1,600 0
= 1,120
=S 144
Al 336
01 =LHOHI 1,600 1,600 0
ONAABIMBIA XA ez
20,0003 28 *403] 1,600
= 1,120
=S 144
Al 336
308 AFAIEHMSOIH 1,424,151 1,424,151 0
= 996,906
S 128,173
Al 299,072
183 S| 2SO ZB XA AIE 1,424,151 1,424,151 0
OXIS A AEIA EXHALY
1,424,151,000& x14] 1,424,151
= 996,906
S 128,173




2A:
PSR
ool

2 (AEISX/ I ZMEEE)

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 299,072
|;ﬁx+§ AEIAHIA SXRARR(FE DFSAZXIS A 52,914 52,914 0
&
= 37,040
= 4,762
Al 1,112
308 XM SOIE 52,914 52,914 0
= 37,040
= 4,762
Al 11,112
18 SIS0t HAS A 52,914 52,914 0
OBE0ISA ANV
52,914,000 x 14| 52,914
[ 37,040
= 4,762
Al 1,112
A2IEXAE 28 X2 7,169,414 5,977,042 1,192,372
= 271,614
= 1,100,888
Al 5,796,912
SEAteI=EX2 29 X 2,781,287 2,743,629 37,658
= 20,196
Al 2,761,091
201 er2 3| 28,600 31,800 23,200
01 AtR2t2|HI 1,600 1,800 A200
OBEAeSA2 =81 88 4223
a4g 100,000 8 »23] 1,600
2 35244l 27,000 30,000 23,000
OSSAtz=X2 7A 2=
27,000,000 * 14| 27,000
307 elztol & 2,752,687 2,711,829 40,858
= 20,196
Al 2,732,491
05 212t =S 2,685,367 2,644,509 40,858
OAzl=X2 23 (402) 2,685,367
oNSEEAtEIF 2
733,894,000 * 10 £ 733,894
oActSEALE S X2
634,872,000 * 100 2 634,872
oZEEASF X2
733,103,000 * 10 £ 733,103
oD ESE AR F 2
583,498,000 * 11 £ 583,498
10 Al2IS XA EEE 22X 67,320 67,320 0
OAt2IS X2 SAHL SE= 67,320




SA ARSI
B HASE MBOE MW (ASI=X/IIZMEBE)
e ARIEXAE 28 X3 (SH9 H2)
SA - ZE - B2(30) - HRAS of v e HIDE2
CHEZHAB =N
1,530,000& x 12& 18,360
= 5,508
Al 12,852
oictSE AR S A2
1,320,000~ 128 15,840
< 4,752
Al 11,088
o==SE At S
1,440,000 12& 17,280
= 5,184
Al 12,09
ol ESEAte = X2
1,320,000~ 128 15,840
< 4,752
Al 11,088
SEAEISX2 JIs2Z A 160,000 150,000 10,000
401 AlZHIZ SO 160,000 150,000 10,000
01 Al&H| 158,920 148,650 10,270
OActEEAEIEX2 JISsEL(=2&5W
H) 150,000,000 99.28/100 148,920
OALIEEAIEI SR 2 JIs2E2 ()] 4
xl) 10,000,000& * 14! 10,000
03 Al 20HHI 1,080 1,350 A270
OActEEAEIEA2 JIsES(=FE51
H) 150,000,000& *0.72/100 1,080
=0l SXAIE 2E(&HI) 18,720 18,720 0
= 5,616
Al 13,104
307 gl2to| & 18,720 18,720 0
=S 5,616
Al 13,104
10 AlRISXAIZEHE 22X 18,720 18,720 0
=0 SXAE AL SEE€Z(S2R) 18,720
o M2ISXANES XX
120,000& x4« 123 5,760
= 1,728
Al 4,032
oL AST AKX
90,0002 x 12+ 122 12,960
== 3,888
Al 9,072
C=0SRAE 2H(HEAY) 884,946 852,804 32,142
== 884,946
307 @120l & 884,946 852,804 32,142




SA: MBS
M NASS Mol NJ(MISX/OIZNEEH)
e ARIEXAE 28 X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 884,946
10 Al SXAZEE 22X 884,946 852,804 32,142
Ok=0l SXAIE 2EHI(S2E)
, 946,000 * 10 A 884,946
== 884,946
=0l ekt 73 3,000 3,200 A200
307 gl2tol & 3,000 3,200 A200
0122 € /=4 3,000 3,200 A200
Odel - =0l F5H| XI&
3,000,000 *14] 3,000
=0 SXAE JIsEZAE 543,228 0 543,228
= 271,614
=S 190,130
Al 81,484
402 2I2F X201 & 543,228 0 543,228
= 271,614
= 190,130
Al 81,484
02 QI XHE AL E R (01X THE) 543,228 0 543,228
Ok=0 SXAE JIs22(2S 0 1
H) 543,228,000 x14] 543,228
= 271,614
= 190,130
Al 81,484
ANESLHE KIE(HEAY) 2,398,073 2,208,689 189,384
301 EetE2 NS 2,398,073 2,208,689 189,384
0 M=SRREEYS 2,398,073 2,208,689 189,384
OAMZIERHE X (HEAIY) 2,398,073
oAsl=Red 23
2,208,689,000& x14] 2,208,689
oABI=Rod nEY|
158,400,000 *14] 158,400
oM=RL2A LI=HI
30,984,000 * 14! 30,984
AN SRME K& (KHA) 380, 160 0 380, 160
301 EtE NS 380, 160 0 380, 160
0 AR=R22as 380,160 0 380,160
OMIERRE SAHI
8,000 x1802 2 x 12 380, 160
NSGALS SESSAL (ARISXI/ALEI SR8 1,085,000 0 1,085,000
= 542,500
= 162,750
Al 379,750
KSAtel SS=sAE A3 1,085,000 0 1,085,000




FA ARSI
B K|oAS] SBESAR(MEIZX/AEI=TIYE)
el NSAel SE=sAE X3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 542,500
=S 162,750
Al 379,750
ANSAD SS=SME 28 1,085,000 1,085,000
= 542,500
= 162,750
Al 379,750
101 @12A4H| 169,062 169,062
= 84,525
= 25,358
Al 59,169
M IIRIMZZENSES 169,052 169,052
Og=2ozXN2dH S 22X+ 212H] 169,052
oQI2Y 85,8403 x4 *300& 103,008
= 51,504
= 15,451
Al 36,053
oFFrd 85,8402 x4 x52== 17,855
= 8,927
= 2,678
Al 6,250
oA\ Xt=g 85,8402 x4 » 15 5,151
= 2,575
= 773
Al 1,803
oMeEEE 10,560,000 * 14 10,560
= 5,280
= 1,584
Al 3,696
SRS 8,478,000 *14] 8,478
= 4,239
S 1,272
Al 2,97
=044l 20,0002 x4 +252 x 122 24,000
= 12,000
& 3,600
Al 8,400
201 Zet=Eh] 28,245 28,245
= 14,123
= 4,237
Al 9,885
01 At2tltl 20,745 20,745
Odgt=3=H| 7,145




od
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FA ARSI
M F|oAIE SESZAI(ABIZT/AIE=TIYE)
=Rl XSAE SEESAE X2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,500
=S 1,650
Al 3,850
14 0Bt 2as 11,000 11,000
OSANXY  L20l2 A2y
10,000,000 * 14! 10,000
= 5,000
= 1,500
Al 3,500
OS8iss 43712 S DS M 25
1,000,000 *14] 1,000
= 500
=S 150
Al 350
307 212+01& 860,503 860,503
= 430,252
=S 129,075
Al 301,176
0122 € =4 238,739 238,739
OzaxR23 4,000,000 * 14 4,000
= 2,000
= 600
Al 1,400
Og=2ozXd MHLE d=Hl S
234,739,000 x14] 234,739
= 117,370
= 35,211
Al 82,158
11 AMRISXAEEES 621,764 621,764
OkQl 92 - =5 SEXNE AEAE F=a
621,764,000 x14] 621,764
= 310,882
=S 93,264
Al 217,618
405 KHakE SH 9,000 9,000
= 4,500
=S 1,350
Al 3,150
01 TR =S FISHI 9,000 9,000
ool 2 2B
9,000,000& *14] 9,000
= 4,500
= 1,350
Al 3,150




SA: ASIZXID
M. HYESAAH|I(AFRI=XI) (JIEHIIE
s lIEE2ghl EER=E)
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
SHHSHHHI (A2 ) (D1EHIIE) 696,917 650,643 46,274
= 30,530
s 212,69
T 28,943
Al 424,745
ol 29| 563,239 504,933 58,306
= 30,530
Fay 212,699
== 28,943
Al 291,067
ol 2| 11,374 10,917 457
101 2124d| 11,374 10,917 457
03 BRH(RIIH %) 22N 4 11,374 10,917 457
ONEEEERE
15,7963 x2H x20A| 2H+ 128 % 150% 11,374
SeHAHI 22| AF 21 24H| 240,340 200,142 40,198
= 86,820
& 8,682
Al 144,838
101 Q14| 208,040 173,542 34,498
= 71,670
& 7,167
Al 129,203
03 SR (PINHS) 22X 22 208,040 173,542 34,498
OSE At 22 AF 14| XIJ(Bx) 143,340
oJl2a 114,840,000 * 14| 114,840
= 57,420
& 5,742
Al 51,678
oAt 2R+E 24,000,000 * 14! 24,000
= 12,000
& 1,200
Al 10,800
oAHXt=Y 4,500,000 * 14| 4,500
= 2,250
== 225
Al 2,025
OSE At 22 AF 14| XIS (XA 64,700
oJlea 18,000,000 * 14 18,000
oJIEsg 200,000 =123 2,400
oXRaY 80,000& x5H 12 4,800
oFZY Itz 50,0003 «3H 123 1,800
oXlg=ag 12,000,000 * 14! 12,000




SA: ASIZXID
M HAPAZHI(ALZIZRID) (OIEH/DIE
chol: ol (19 @)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
odAG A 130,000 x5~ 122 7,800
odz+g 4,400,000 14 4,400
ocEEFIHI 13,500,000 x 14 13,500
WM HsFEE=S 32,300 26,600 5,700
= 15,150
= 1,515
Al 16,635
M SRA(RIAHY) 22N BEE2RE3 S 32,300 26,600 5,700
OSgAtdlZel At NE2ES
3,000,000 *14] 3,000
[ 1,500
= 150
Al 1,350
OSEAtdlZelAt AHTHHES =
1,500,000 *14] 1,500
= 750
= 75
Al 675
OSEAtAIZ2IAL 221HZ
7,800,000 * 14 7,800
= 3,900
=S 390
Al 3,510
OSEARZRIA 2LHLLED
8,000,000 * 14 8,000
= 4,000
s 400
Al 3,600
OSSARIZZIAL AR FRE2(TH)
2,000,00021 14! 2,000
OSSANZEIAL EIR3
10,000,000 * 14 10,000
[ 5,000
= 500
Al 4,500
A2l MR NS (B &+ HBI0IM 29F) 2,400 4,800 A2,400
[ 1,200
Al 1,200
101 e124d| 2,400 4,800 A2,400
[ 1,200
Al 1,200
03 SRA(RIAH) 22X 2,400 4,800 2,400
OSE At 22| Al I EAIHBH0IM
200,000 x 123 *1 2,400
= 1,200




SA: ASIZXID
M HAPAZHI(ALZIZRID) (OIEH/DIE
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 1,200
AHESAH 2CIUIOIE XA - |4 21248| 98,238 92,928 5,310
= 30,530
Al 67,708
101 e124d| 83,620 79,748 3,872
= 27,524
Al 56,096
03 SRH(RINHA) 222+ 83,620 79,748 3,872
OXESAH 2OIUI0IE 21248 XI& 83,620
S 2,156,302 2+ 122 51,7%4
= 24,464
Al 27,290
o3 (ZESFIHI)
2,587,668 x2H 5,176
= 1,500
Al 3,676
odAZ A 130,000 =2 * 12 3,120
= 1,560
Al 1,560
oAZRZR+H
19,9302 x2S *20Al 2t 122 9,567
otERE 140,003 x 1= 123 1,680
oXRg 80,0002 x2& * 12 1,920
oXgd 200,000 <2~ 122 4,800
odz2+g 593,010 x2H+23] 2,373
odIsd = 50,0002 x2& 12 1,200
oA Xt 101,492 x2H»10 2,030
04 HSRESS 14,618 13,180 1,438
= 3,006
Al 11,612
04 SRA(RIH )22 BEE=RES S 14,618 13,180 1,438
OXHESAH 2ZCIUIOIEN Atzl28E 2 &N
= 14,618
o=x0lA=z 1,625,000& x2H 3,250
= 1,625
Al 1,625
SRS 2,500,000& x2&H 5,000
= 1,381
Al 3,619
oxQAAEES , 169,000 +2& 4,33
cNELEFES & AN EER
1,015,000 x2H 2,030
SIE= 0 2telAt 12| 210,887 196, 146 14,741
= 124,679




2A: A=
M HYAFHI(AIZI=X) (DIEHIIEH
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 20,261
Al 65,947
101 2124 d| 182,567 169,746 12,821
= 102,023
T 16,579
Al 63,965
03 SRA(RINHL) 22X E > 182,567 165,246 17,321
O22ZHZ2IAF QIHHI(EX) 122,129
oJlgag 106,639,000 * 14 106,639
= 85,311
= 13,863
Al 7,465
oAZI2Z2R2+Y 15,490,000 14! 15,490
= 12,392
T 2,014
Al 1,084
oo 230 2e|Ab TAHI(KHA) 55,038
cItEsY 140,000 x4 H 12 6,720
ocXBH 80,0003 x4 123 3,840
oHITEINZ 52,5003 x4F =123 2,520
o&¥z2=g 7,156,000 14 7,156
o Mg A 130,000& x4 H 123 6,240
ocXg=g 200,0003 x4+ 122 9,600
odHXt+Y 110,000 4 F 10 4,400
o HAF I 10,664,000 14! 10,664
o A2t 2RLEH(EE)
81,2003 x4+ 12& 3,898
O2IZSOIZEIAL D402
1,350,000 *4H 5,400
= 4,320
& 702
Al 378
M HAIRE3S 28,320 26,400 1,920
= 22,656
& 3,682
Al 1,982
M SRHE(RINHS)2ZX B8288=2 S 28,320 26,400 1,920
Oflz=0&2AL AL EEZ
150,000 x4H 122 7,200
= 5,760
& 936
Al 504
Of|lgza¢&2AI 201H=
150,000 x4 F 122 7,200




FA ASIS
3. A2 3HI(ARISXIL) (I1EHIIEH
el el (B9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,760
=S 936
Al 504
O22s02cAt 1EEEREs & &S
HEEE S 90,000 x4 * 122 4,320
s 3,45
s 562
Al 302
O2d2s02elA EIXsSH SE=
200,000 ~4H 122 9,600
= 7,680
== 1,248
Al 672
=34 133,678 145,710 12,032
Jl=23H] 133,678 145,710 12,032
201 er23 | 79,617 89,150 9,533
01 At2teltl 77,025 86,270 N9,245
OYergH| o A
31,442, 0002 %14l 31,442
O2Yag EHH 3,000,000 %14! 3,000
SEEIELB Y 42,583,00024%14! 42,583
° ZZ2H| 2,59 2,830 ~2883
OZZR3 2 HAl A4
1,000,000 14| 1,000
OxXtg ety SHA &
1,592,0002 %14 1,592
202 04| 41,761 44,440 A2,679
01 =LHOHI 41,761 44,440 A2,679
ORA2g % 41,761,000 *14] 41,761
203 FR=4| 12,300 12,120 180
01 J|2=2gdR=a] 6,000 6,000 0
Ous=si=& 6.,000,000& 6,000
M FAZSLRFAI 6,300 6,120 180
OAHE = X BH(55%)
(400,0002+(5,0002x259 ) )« 12& 6,300
HEES(AZIEX L) (AMSISX/FHLASKR) 4,525,147 4,521,491 3,65
WA= 4,525,147 4,521,491 3,65
WA XIE 4,525,147 4,521,491 3,65
701 JIEtRIHISHES 4,465,147 4,461,491 3,65
01 JIE=I AN ES 4,465,147 4,461,491 3,65
Ooza20II=S82H d&E=
4,465,147, 0002 14! 4,465,147
RJ1sdEs 60,000 60,000
0 JI=dEs 60,000 60,000




2A:

Ar2l = X 2t

. MRPES(AE=X0) (ASISXI/FHAAHS )
&2l LHEHAHXIE (S &S
= - q LS
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OAgI=EXDI12 BE3(HASFLUXEHES!
3) 60,000,000 14! 60,000




